Unit 7 Review (Grade 8)
Answer Section

MULTIPLE CHOICE

	1.	ANS:	C	

	2.	ANS:	A	

	3.	ANS:	B	


	4.	ANS:	C	

	5.	ANS:	B	

	6.	ANS:	A	

	7.	ANS:	C	

	8.	ANS:	A		

	9.	ANS:	C	

	10.	ANS:	C	

	11.	ANS:	B	


	12.	ANS:	B	


	13.	ANS:	B	

	14.	ANS:	C	


	15.	ANS:	A	


	16.	ANS:	A	

SHORT ANSWER

	17.	ANS:	
Answers may vary. Sample:
Graph A: The line graph shows the increasing trend.
Graph B: The bar graph shows the actual attendance numbers.

	18.	ANS:	
Answers may vary. Sample:
a)	iv)
b)	iii)
c)	i)
d)	ii)


PROBLEM

	19.	ANS:	
Methods may vary. Sample:
Make a list of all possible outcomes.
H  H  H	T  H  H
H  H  T	T  H  T
H  T  H 	T  T  H
H  T  T 	T  T  T
There are 8 possible outcomes and 3 of them show 1 head and 2 tails.
P(1 head and 2 tails) [image: ]

A tree diagram shows 27 possible sums, 14 of which are even and 6 are equal to 10.
a)	P(even sum) [image: ]
b)	P(sum of 10) [image: ]
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MULTIPLE CHOICE

	1.	ANS:	B	

	2.	ANS:	C	

	3.	ANS:	A	

	4.	ANS:	C	

	5.	ANS:	A	

	6.	ANS:	A	
	7.	ANS:	C	

	8.	ANS:	D	

	9.	ANS:	B	

	10.	ANS:	C	

SHORT ANSWER

	11.	ANS:	
[image: ]



	12.	ANS:	
[image: ]
















	13.	ANS:	
Diagrams may vary. Sample:
[image: ]

	

PROBLEM

	14.	ANS:	
Answers may vary. Sample:
[image: ]
At each point where the vertices meet, the sum of the angle measures is 360.
That is, a + b + c + d = 360
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